MDE 010, Homework #1, Summer 2023 Name KG \r

Instructions: Record your answers to each of these problems directly on this page. Do the work on a
separate page and attach these pages to this one. You should do the work by hand, but you may check
your work with a calculator,

T co"““”*‘f/ﬁ"”"“”“?ﬁ j% Px /Fo
{9 025— -1,]-23, \/2301 001000100001... 39 il J_(—4)}

Using correct set notation, give the elements that also belong to each of the following sets.
[Hint: You may want to simplify some expressions first.]
a. The Natural Numbers £94, |-23l, 5"/;3, -4)* 3
b. The Rational Numbers  $q,-0.25, -1, |-23], -ﬁ‘“ My, s, (Y ¢
c. The Irrational Numbers £ V¥, 301,001g001 0000t . ,Vme §
d. Integers £9 _ [-23], 3%, (-4
);‘-'8 Al
2. Forthe numbers in the set {— -11,4,V64,-6.75,14000, V19, rrz,-,O —83} which
numbers are:
Real Numbers —tfewbeole sot
Irrational Numbers § Jid, > ¢ i
Rational Numbers £ S, i, 4, VB4, ~6.AS , 14000, 73, ©O. “, /'§
Integers £ —\, 4, Jq, dooo, 93, "“/s§
Natural Numbers  £4 5, 1400, e/g§
Are any numbers in the list not real? If not, give an example a number that is not

real. gl numbaevs gue val, %, /=1 e ok nat

"o a0 oo

3. Round the following numbers to the indicated digit.
12,456 (thousands) 12, 000

45,723 (hundreds) 45,300

24.8901 (ones) as

0.06 (tenths) o.|

0.888 (hundredths)  ©.89

0.68943 (thousandths) ©.6249

95.8 (tens) oo

™ P oo oo

4. Write 265,089 in words and then in expanded notation.
Fwre fumdaid S ﬁw‘tw, LAk - e,
5. Write six billion two hundred fifty-four million five hundred forty thousand one in standard
notation. b, 254, 54o, ool

8. Round 8459 a) to the nearest 10s 34bo
b) to the nearest 100s gSoeo
c) to the nearest 1000s  gooo

6. Add 23+ 19+ 7 + 21 + 4 34



7. Add 12,070 + 2,954 + 3,400 19,42

4cm
8. Find the perimeter of:
15cm 5cm
|$+9+5+4S +s+4 = 43 o S e
5cm
cm

9. Subtract 6246 - 1879  43Lt
10. Simplify 12-6-4 Z
11. Insert < or > between the following pairs of numbers to make a true statement

a)12_> 8

b) 210 _> 189

c)a_<£ 14

12. Estimate to the nearest 10s 872 + 35 + 3 + 59 + 84
- g3+t 4010 + bo t 80 = |0SO

13. Multiply (37)(2) - 3y

14. Multiply (2344)(306) V¥, 264

Fy

8in.

15. Find the areaof: 8% 3= 24 in
3in.
16. Divide 3642 +5 323 R.2

17. Divide 532+19 2§

18. State the order of operations  PEWDAS — Porertheses, gromentn, mmg&utm’b

19. Evaluate 54 s durrean | adddoin b sudohs
20.Simplify4? =(10-9 + 1)3x 3-5 - | - il o C = LS

e - lo+¥ %3-S = 2x3-5S = (-S= |
21. Simplify 23 x 28 -2° -2—;;- - 7~ =9*:= 4

22.Simplify 43 + 9x 12- (4 + 3x17) = Cﬁ +108 - 95 = 1%

23. Simplify[9x (6 — 4)+8] + [7X (8 —3)] = qxa+9 + #xs~ 1%/g+35 %*r&"' 1494 =31 4

w

24. Simplify (80 +16) x [(20 - 56 +8) + (8X 8- 5x 5)]
) L(UJ— ) 4 (4 -25)) = sx(13+31) :$x52:2%0



